
 

 

 

15. Match the pollutant in column A with its type in column B using the codes in  

  the choices 

   Column A  Column B 

  1. Sewage                                         P  Primary pollutant 

 2. Arsenic salt of heavy metals        Q  Biodegradable pollutant 

 3. Plastic                                           R  Nondegradable pollutant 

 (a) 1 = P; 2 = Q; 3 = R (b) 1 = Q; 2 = R; 3 = P 

  (c)  1 = R; 2 = Q; 3 = P (d) 1 = Q; 2 = P; 3 = R 

 

 

 

16. Identify the main source of the following air pollutant in the order given  

  below.  1. carbon monoxide,  2.  dust. 

 (a) 1 – furnace , 2 – textile mill 

 (b) 1 – chemical industries, 2 – textile mill 

  (c)  1 – furnace , 2 – chemical industries 

 (d) 1 - chemical industries, 2 - furnace   

 

 

17. The plant which can fix carbon monoxide is ________ 

 (a) Pinus (b) Funiperus  

  (c)  Coleus coleus (d) both (b)  &  (c) 

 

 

18. Good quality fuel should contain ____ 

 (a) higher lead content 

 (b) higher sulphur content 

  (c)  both lead and sulphur in small quanties 

 (d) higher carbon content 

 

 

19. Which of the following increases air pollution directly? 

 (a) Presence of metals and complex compounds in water. 

 (b) Presence of micronutrients in water. 

  (c)  Presence of hydrogen sulphide in water 

 (d) all 

 

 

 

20. The pollutants which only marginally change the soil composition is _______ 

 (a) biological pollutants (b) pesticides 

  (c)  minerals (d) industrial waste. 
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